(Ax?> =3x+1) = (—x* + Bx +4) = 3x> + 2x + C A A,B,C 9] 3=
217k 9 g ALY

® A=2,B=-1,C=3 @ A=4,B=-1,C=5
® A=4,B=-5C=-5 @® A=2B=5,C=3

® A=2.B=-5C=-3



2 % x ol o o174l 227

D 1-3x+2x2+4x° @ —x>+5x+1
@ x-8y+1 @ 4x> +3x-1

® b5xy-3



Auk
mlo
1>
ftlo
)
i
ol
o
»,
rlo
~

(3a2 —2a—-4) - (_2a2 +3a-2)

® a®+a-6 @ @@ ta-2 ® 5t at

@ 5a2 -5a—-6 ® 542 -5a-2



) — (5x = 6y) = =3x — y Al (

® 2x-3y

@ b5x -2y

@ 2x -5y

® 5x -5y



A (327 + x = 2) + (=527 = Tx + 1) Tk 5FR?

O -2x2-6x-1 @ -2x2+6x+1 @ —2x2-5x-1

@ 8x2 —4x-1 ® 8x2+4x4+1



